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3 Year LL.B. IV Semester/5 Year B.A.LL.B./B.B.A.LL.B. Semester VIII (Old) 
Examination, December 2018 

ALTERNATE DISPUTE RESOLUTION SYSTEMS 
(Clinical Course II)

Duration : 2 Hours	 Max. Marks : 60

Instructions :	1.	 Answer question No. 9 and any five of the remaining.

	 2.	Q uestion No. 9 carries 15 marks and the remaining 
questions carry 9 marks each.

	 3.	 Answer should be written either in English or Kannada 
completely.

      ÓÜãaÜ®æWÜÙÜá :	1.	 ±ÜÅÍæ°  9 ®Üá°  EñÜ¤ÄÔ  ÖÝWÜã  EÚ¨Ü  ¿ÞÊÜâ¨Ý¨ÜÃÜã  5 ±ÜÅÍæ°WÜÚWæ  
EñÜ¤ÄÔ.

	 2.	 ±ÜÅÍæ°  9 PæR  15 AíPÜWÜÙÜá  EÚ¨Ü  ±ÜÅ£  ±ÜÅÍæ°WÜÚWæ  9 AíPÜWÜÙÜá.
	 3.	 EñÜ¤ÃÜÊÜ®Üá°  ÓÜí±Üä|ìÊÝX  CíXÉàÐ…  A¥ÜÊÝ  PÜ®Ü°vÜ¨ÜÇæÉà 	  

ŸÃæ¿á¸æàPÜá.

Q. No. 1.	Examine the advantages and disadvantages of alternate 
		  methods of dispute resolution systems.	 Marks : 9
		  ËÊÝ¨Ü  ŸWæÖÜÄÓÜÆá  CÃÜáÊÜ  ±ÜÃÝÂ¿á  Ë«Ý®ÜWÜÙÜ  A®ÜáPÜãÆ  ÖÝWÜã  

A®Ý®ÜáPÜãÆÊÜ®Üá°  ±ÜÄÎàÈÔ.

Q. No. 2.	Who is a conciliator ? Explain the duties of a conciliator.	 Marks : 9
		  ÓÜí«Ý®ÜWÝÃÜ  Gí¨ÜÃæ  ¿ÞÃÜá ?  ÓÜí«Ý®ÜWÝÃÜ®Ü  PÜñÜìÊÜÂWÜÙÜ®Üá°  ËÊÜÄÔ.

Q. No. 3.	Discuss the provisions relating to conduct of arbitral proceedings 
		  under Arbitration and Conciliation Act, 1996.	 Marks : 9

		  ÊÜá«ÜÂÓÜ§WÝÄPæ  ÊÜáñÜá¤  ÓÜí«Ý®ÜWÝÄPæ  1996ÃÜ Aw¿áÈÉ  ÊÜá«ÜÂÓÜ§WÝÄPæ  ±ÜÅQÅÁá  
®ÜvæÓÜÆá  ÓÜíŸí—ÔÃÜáÊÜ  E±ÜŸí«ÜWÜÙÜ®Üá°  aÜbìÔ.

Q. No. 4.	Examine the scope and importance of conciliation.	 Marks : 9
		  ÓÜí«Ý®ÜWÝÄPæ¿á  ÊÝÂ²¤  ÊÜáñÜá¤  ±ÝÅÊÜááSÂñæ¿á®Üá°  ±ÜÄÎàÈÔ.

Q. No. 5.	What is negotiation ? Enumerate the essentials of negotiation.	 Marks : 9
		  A®ÜáÓÜí«Ý®ÜWÝÄPæ  Gí¨ÜÃæà®Üá ?  A®ÜáÓÜí«Ý®ÜWÝÄPæ¿á  AÊÜÍÜÂPÜñæWÜÙÜ®Üá°  £ÚÔ.  

P.T.O.
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Q. No. 6.	Who is a Negotiator ? Examine the phases of negotiation.	 Marks : 9
		  A®ÜáÓÜí«Ý®ÜWÝÃÜ  Gí¨ÜÃæ  ¿ÞÃÜá ?  A®ÜáÓÜí«Ý®ÜWÝÄPæ¿á  ÖÜíñÜWÜÙÜ®Üá°  

±ÜÄÎàÈÔ.

Q. No. 7.	Explain the code of conduct for mediators.	 Marks : 9
		  ÊÜá«ÜÂÊÜ£ì¿á  ¯à£  ÓÜí×ñæ¿á®Üá°  ËÊÜÄÔ.

Q. No. 8.	“Success of mediation depends upon the role of the mediator”. 
		  Discuss.	 Marks : 9
		  ""ÊÜá«ÜÂÊÜ£ìPæ¿á  ¿áÍÜÓÜáÕ  ÊÜá«ÜÂÊÜ£ì¿á  ±ÝñÜÅ¨ÜÈÉ  AÊÜÆí¹ñÜÊÝXÃÜáñÜ¤¨æ.''  

aÜbìÔ.

Q. No. 9.	Solve any two of the problems.	 Marks : 15
		  PæÙÜX®Ü  ¿ÞÊÜâ¨Ý¨ÜÃÜã  GÃÜvÜá  ÓÜÊÜáÓæÂWÜÚWæ  EñÜ¤ÄÔ.

		  (a)	Rakesh and Ramesh have appointed a conciliator to resolve 	 
	 their dispute and the conciliation proceedings are in progress.  
	 Now Rakesh decides to approach the judiciary relating to the  
	 same dispute. Give suggestions to Rakesh.

			   ÃÝPæàÍ…  ÊÜáñÜá¤  ÃÜÊæáàÍ…®Üá  AÊÜÃÜ  ËÊÝ Ü̈ÊÜ®Üá°  ŸWæÖÜÄÓÜÆá  ÓÜí«Ý®ÜWÝÃÜ®Ü®Üá°   
	 ®æàÊÜáPÜ  ÊÜÞwPæãíw¨ÝªÃæ.  ÓÜí«Ý®ÜWÝÄPæ  ±ÜÅQÅÁá¿áá  ®Üvæ¿áá£¤¨æ.  DWÜ   
	 ÃÝPæàÍ…®Üá ®ÝÂ¿ÞíWÜ̈ ÜÈÉ  A æ̈à  ËÊÝ Ü̈ÊÜ®Üá°  ŸWæÖÜÄÔPæãÙÜÛÆá  ̄ «ÜìÄÔ¨Ýª®æ.   
	 ÃÝPæàÍ…¯Wæ  ÓÜÆÖæ  ¯àw.

		  (b)	Nagesh and Umesh have appointed a conciliator regarding  
	 their dispute. and conciliator has decided to conduct the  
	 proceedings. But Nagesh and Umesh have failed to decide the  
	 place where the conciliation proceedings have to be conducted.  
	 Give suggestions.

			   ®ÝWæàÍ…  ÊÜáñÜá¤  EÊæáàÍ…  AÊÜÃÜ  ËÊÝ¨ÜPæR  ÓÜíŸí—Ô¨Üíñæ  ÓÜí«Ý®ÜWÝÃÜ®Ü®Üá°   
	 ®æàËáÔPæãíw¨ÝªÃæ.  ÓÜí«Ý®ÜWÝÃÜ  ÓÜí«Ý®ÜWÝÄPæ  ±ÜÅQÅÁá  ®ÜvæÓÜÆá  
	 ¯«ÜìÄÔ¨Ýª®æ.  B¨ÜÃæ  ®ÝWæàÍ…  ÊÜáñÜá¤  EÊæáàÍ…  ÓÜí«Ý®Ü  ±ÜÅQÅÁá¿á  ÓÜ§ÙÜ  
	 ¯«ÜìÄÓÜÆá  Ë´ÜÆÃÝX¨ÝªÃæ.  ÓÜÆÖæ  ¯àw.

		  (c)	Dinku and Pinku have decided to refer the business matter  
	 dispute to the arbitrator. But they have failed to decide in  
	 which language the arbitral proceedings has to conducted.  
	 Give suggestions.

			   wíPÜá  ÖÝWÜã  ²íPÜá  AÊÜÃÜ  ÊÜÂÊÜÖÜÃÜOæ¿á  ËÊÝ¨ÜÊÜ®Üá°  ÊÜá«ÜÂÓÜ§WÝÃÜ¯Wæ   
	 J²³ÓÜÆá  ¯«ÜìÄÔ¨ÝªÃæ.  B¨ÜÃæ  ¿ÞÊÜ  »ÝÐæ¿áÈÉ  ÊÜá«ÜÂÓÜ§WÝÄPæ  ±ÜÅQÅÁá   

	 ®ÜvæÓÜ¸æàPæí¨Üá  £àÊÜÞì¯ÓÜÆá  Ë´ÜÆÃÝX¨ÝªÃæ.  ÓÜÆÖæ  ¯àw.
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